



Fuzzy filters of pseudo-BE algebras

Andrzej Walendziak¹ · Akbar Rezaei²

Received: 17 June 2019 / Accepted: 10 December 2019 / Published online: 16 December 2019
© African Mathematical Union and Springer-Verlag GmbH Deutschland, ein Teil von Springer Nature 2019

Abstract

The theory of fuzzy filters in pseudo-BE algebras is developed. Various characterizations of fuzzy filters are given. It is proved that the set of all fuzzy filters of a pseudo-BE algebra is a complete lattice. Some characterizations of Noetherian pseudo-BE algebras by fuzzy filters are obtained. Finally, fuzzy commutative filters are defined and studied. Moreover, the homomorphic properties of fuzzy (commutative) filters are provided.

Keywords (Noetherian) pseudo-BE algebra · Filter · Fuzzy (commutative) filter · Homomorphism

Mathematics Subject Classification 06F35 · 03G25 · 08A72

1 Introduction

In 1966, Imai and Iséki [11] introduced BCK algebras which are an algebraic model of BCK-logic. There exist several generalizations of BCK algebras such as BCI algebras [12], BCH algebras [10], BE algebras [13], etc. BE algebras were deeply studied by Rezaei et al. [1, 17–19]. In 2001, Georgescu and Iorgulescu [9] introduced pseudo-BCK algebras as a non-commutative extension of BCK algebras. Next, pseudo-BCI and pseudo-BCH algebras were defined in [6] and [21], respectively. In 2013, Borzooei et al. [2] introduced the notion of pseudo-BE algebra. Ciungu [3] defined commutative pseudo-BE algebras and proved that the class of these algebras coincides with the class of commutative pseudo-BCK algebras.

In 1965, Zadeh [25] introduced fuzzy sets. At present these ideas have been applied to many mathematical branches such as abstract algebra (semigroups, groups, rings, modules, etc.), functional analysis, probability theory, topology and so on. In 1991, Xi [24] applied the concept of fuzzy set to BCK algebras. Fuzzy ideals of BCI and BCH algebras were studied in [16] and [23], respectively. Fuzzy filters of BE algebras were discussed in [7] and

✉ Andrzej Walendziak
walent@interia.pl
Akbar Rezaei
rezaei@pnu.ac.ir

¹ Institute of Mathematics and Physics, Siedlce University, 3 Maja 54, 08110 Siedlce, Poland

² Department of Mathematics, Payame Noor University, P.O. Box 19395-3697, Tehran, Iran

[20]. Lee [15] established the fuzzyfication of ideals in pseudo-BCI algebras. Fuzzy ideals of pseudo-BCK algebras were investigated in [8]. Walendziak and Wojciechowska–Rysiawa [22] studied fuzzy ideal theory in pseudo-BCH algebras.

In this paper, we develop fuzzy filter theory in pseudo-BE algebras. This theory plays an important role in the investigation of such algebras. We give characterizations of fuzzy filters and provide conditions for a fuzzy set to be a fuzzy filter. We also show that the set of fuzzy filters of a pseudo-BE algebra is a complete lattice. Moreover, we obtain some characterizations of Noetherian pseudo-BE algebras by fuzzy filters. Finally, we introduce the notion of fuzzy commutative filter and investigate some of its properties.

2 Preliminaries

In this section, we review some of the standard facts on pseudo-BE algebras.

Definition 2.1 An algebra $(X; \rightarrow, 1)$ of type $(2, 0)$ is called a *BE algebra* if it satisfies the following equations:

- (BE₁) $x \rightarrow x = 1$,
- (BE₂) $x \rightarrow 1 = 1$,
- (BE₃) $1 \rightarrow x = x$,
- (BE₄) $x \rightarrow (y \rightarrow z) = y \rightarrow (x \rightarrow z)$.

Definition 2.2 [2] An algebra $(X; \rightarrow, \rightsquigarrow, 1)$ of type $(2, 2, 0)$ is called a *pseudo-BE algebra* if it satisfies the following axioms:

- (pBE₁) $x \rightarrow x = x \rightsquigarrow x = 1$,
- (pBE₂) $x \rightarrow 1 = x \rightsquigarrow 1 = 1$,
- (pBE₃) $1 \rightarrow x = 1 \rightsquigarrow x = x$,
- (pBE₄) $x \rightarrow y = 1 \iff x \rightsquigarrow y = 1$,
- (pBE₅) $x \rightarrow (y \rightsquigarrow z) = y \rightsquigarrow (x \rightarrow z)$.

Definition 2.3 [14] An algebra $(X; \rightarrow, \rightsquigarrow, 1)$ of type $(2, 2, 0)$ is called a *pseudo-BCK algebra* if it satisfies (pBE₁)–(pBE₄) and the following axioms:

- (pBCK₁) $(x \rightarrow y) \rightsquigarrow [(y \rightarrow z) \rightsquigarrow (x \rightarrow z)] = 1$,
- (pBCK₂) $(x \rightsquigarrow y) \rightarrow [(y \rightsquigarrow z) \rightarrow (x \rightsquigarrow z)] = 1$,
- (pBCK₃) $(x \rightarrow y = 1 \text{ and } y \rightarrow x = 1) \implies x = y$.

Remark 2.4 Every pseudo-BCK algebra verifies (pBE₅), see [14], and therefore pseudo-BCK algebras are pseudo-BE algebras.

Definition 2.5 A pseudo-BE algebra $(X; \rightarrow, \rightsquigarrow, 1)$ is called *proper* if it is not a pseudo-BCK algebra and $\rightarrow \neq \rightsquigarrow$.

Remark 2.6 If $(X; \rightarrow, \rightsquigarrow, 1)$ is a pseudo-BE algebra, then $(X; \rightsquigarrow, \rightarrow, 1)$ is a pseudo-BE algebra, too. We also note that if the operations \rightarrow and \rightsquigarrow coincide, then $(X; \rightarrow, 1)$ is a BE algebra.

In a pseudo-BE algebra, one can introduce a binary relation \leq by:

$$x \leq y \iff x \rightarrow y = 1 \iff x \rightsquigarrow y = 1, \quad \text{for all } x, y \in X.$$

Proposition 2.7 [2] *In a pseudo-BE algebra $(X; \rightsquigarrow, \rightarrow, 1)$, the following statements hold:*

- (i) $x \leq y \rightarrow x$ and $x \leq y \rightsquigarrow x$,
- (ii) $x \leq (x \rightsquigarrow y) \rightarrow y$ and $x \leq (x \rightarrow y) \rightsquigarrow y$,
- (iii) $1 \leq x \implies x = 1$.

Example 2.8 Consider the set $X = \{a, b, c, d, e, f, 1\}$ with the operations \rightarrow and \rightsquigarrow defined by the following tables:

\rightarrow	a	b	c	d	e	f	1
a	1	1	1	d	e	f	1
b	c	1	c	d	e	f	1
c	a	b	1	d	e	f	1
d	a	b	c	1	d	1	1
e	a	b	c	1	1	d	1
f	a	b	c	1	d	1	1
1	a	b	c	d	e	f	1

\rightsquigarrow	a	b	c	d	e	f	1
a	1	1	1	d	e	f	1
b	a	1	c	d	e	f	1
c	b	b	1	d	e	f	1
d	a	b	c	1	d	1	1
e	a	b	c	1	1	d	1
f	a	b	c	1	d	1	1
1	a	b	c	d	e	f	1

Then $\mathfrak{X} = (X; \rightarrow, \rightsquigarrow, 1)$ is a pseudo-BE algebra. Since $(e \rightarrow d) \rightsquigarrow [(d \rightarrow f) \rightsquigarrow (e \rightarrow f)] = 1 \rightsquigarrow (1 \rightsquigarrow d) = d \neq 1$, axiom (pBCK₁) does not hold. Hence, \mathfrak{X} is not a pseudo-BCK algebra. Therefore, \mathfrak{X} is a proper pseudo-BE algebra.

Definition 2.9 [5] *A pseudo-BE algebra with the condition (A) or a pseudo-BE(A) algebra for short, is a pseudo-BE algebra $(X; \rightarrow, \rightsquigarrow, 1)$ satisfying*

$$(A) \quad x \leq y \implies (y \rightarrow z \leq x \rightarrow z \text{ and } y \rightsquigarrow z \leq x \rightsquigarrow z).$$

Example 2.10 [5] Let $X = \{a, b, c, d, 1\}$. Define the operations \rightarrow and \rightsquigarrow on X as follows:

\rightarrow	a	b	c	d	1
a	1	c	c	1	1
b	d	1	1	d	1
c	d	1	1	d	1
d	1	c	c	1	1
1	a	b	c	d	1

\rightsquigarrow	a	b	c	d	1
a	1	b	c	1	1
b	d	1	1	d	1
c	d	1	1	d	1
d	1	b	c	1	1
1	a	b	c	d	1

It is easy to check that $\mathfrak{X} = (X; \rightarrow, \rightsquigarrow, 1)$ is a pseudo-BE(A) algebra. Since $b \rightarrow c = 1$ and $c \rightarrow b = 1$, axiom (pBCK₃) is not satisfied. Hence, \mathfrak{X} is not a pseudo-BCK algebra.

Definition 2.11 [3] A pseudo-BE algebra $(X; \rightarrow, \rightsquigarrow, 1)$ is said to be *commutative* if it verifies the equations:

$$(x \rightarrow y) \rightsquigarrow y = (y \rightarrow x) \rightsquigarrow x \quad \text{and} \quad (x \rightsquigarrow y) \rightarrow y = (y \rightsquigarrow x) \rightarrow x.$$

Proposition 2.12 [3] *Any commutative pseudo-BE algebra is a pseudo-BCK algebra, therefore commutative pseudo-BE algebras coincide with commutative pseudo-BCK algebras.*

Definition 2.13 [2] Let \mathfrak{X} be a pseudo-BE algebra. A subset F of X is called a *filter* of \mathfrak{X} if for all $x, y \in X$:

- (F1) $1 \in F$,
- (F2) if $x \rightarrow y \in F$ and $x \in F$, then $y \in F$.

Proposition 2.14 [2] *Let \mathfrak{X} be a pseudo-BE algebra and F be a subset of X satisfying (F1). Then F is a filter of \mathfrak{X} if and only if for all $x, y \in X$,*

(F2') if $x \rightsquigarrow y \in F$ and $x \in F$, then $y \in F$.

We will denote by $F(\mathfrak{X})$ the set of all filters of \mathfrak{X} . Obviously, $\{1\}, X \in F(\mathfrak{X})$.

Example 2.15 Let \mathfrak{X} be the pseudo-BE algebra from Example 2.8. We have $F(\mathfrak{X}) = \{\{1\}, \{1, b\}, \{1, c\}, X_1, X_2, \{b\} \cup X_2, \{c\} \cup X_2, X_1 \cup X_2\}$, where $X_1 = \{a, b, c, 1\}$ and $X_2 = \{d, e, f, 1\}$.

Proposition 2.16 Let \mathfrak{X} be a pseudo-BE algebra and let $F \in F(\mathfrak{X})$. For any $x, y \in X$, if $x \in F$ and $x \leq y$, then $y \in F$.

Proof Straightforward. □

3 Fuzzy filters

We now review some fuzzy logic concepts. First, for $\Gamma \subseteq [0, 1]$ we define $\bigwedge \Gamma = \inf \Gamma$ and $\bigvee \Gamma = \sup \Gamma$. Obviously, if $\Gamma = \{\alpha, \beta\}$, then $\alpha \wedge \beta = \min\{\alpha, \beta\}$ and $\alpha \vee \beta = \max\{\alpha, \beta\}$. Recall that a fuzzy set in X is a function $\bar{\mu} : X \rightarrow [0, 1]$.

For any fuzzy sets $\bar{\mu}$ and $\bar{\nu}$ in X , we define

$$\bar{\mu} \leq \bar{\nu} \iff \bar{\mu}(x) \leq \bar{\nu}(x) \text{ for all } x \in X.$$

It is easy to check that this relation is an order relation in the set of fuzzy sets in X .

Let X and Y be any two sets, $\bar{\mu}$ be any fuzzy set in X , and $f : X \rightarrow Y$ be any function. Write $f^{\leftarrow}(y) = \{x \in X : f(x) = y\}$ for $y \in Y$. The fuzzy set $\bar{\nu}$ in Y defined by

$$\bar{\nu}(y) = \begin{cases} \bigvee \{\bar{\mu}(x) : x \in f^{\leftarrow}(y)\} & \text{if } f^{\leftarrow}(y) \neq \emptyset, \\ 0 & \text{otherwise} \end{cases}$$

for all $y \in Y$, is called the *image of $\bar{\mu}$ under f* and is denoted by $f(\bar{\mu})$.

Let X and Y be any two sets, $f : X \rightarrow Y$ be any function, and $\bar{\nu}$ be any fuzzy set in $f(X)$. The fuzzy set $\bar{\mu}$ in X defined by

$$\bar{\mu}(x) = \bar{\nu}(f(x)) \text{ for all } x \in X$$

is called the *preimage of $\bar{\nu}$ under f* and is denoted by $f^{\leftarrow}(\bar{\nu})$.

Next we define fuzzy filters of pseudo-BE algebras. From now on, \mathfrak{X} is a pseudo-BE algebra, unless it is stated.

Definition 3.1 A fuzzy set $\bar{\mu}$ in X is called a *fuzzy filter* of \mathfrak{X} if it satisfies the following conditions:

- (FF1) $\bar{\mu}(1) \geq \bar{\mu}(x)$,
- (FF2) $\bar{\mu}(y) \geq \bar{\mu}(x) \wedge \bar{\mu}(x \rightarrow y)$.

Let $FF(\mathfrak{X})$ denote the set of all fuzzy filters of a pseudo-BE algebra \mathfrak{X} .

Example 3.2 Let \mathfrak{X} be the pseudo-BE algebra given in Example 2.10. Define a fuzzy set $\bar{\mu} : X \rightarrow [0, 1]$ by $\bar{\mu}(a) = \bar{\mu}(d) = 0.5$, $\bar{\mu}(b) = \bar{\mu}(c) = 0.6$ and $\bar{\mu}(1) = 0.7$. It is easily seen that $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} .

Proposition 3.3 Every fuzzy filter $\bar{\mu}$ of \mathfrak{X} satisfies the following assertions:

- (i) if $x \leq y$, then $\bar{\mu}(x) \leq \bar{\mu}(y)$,

- (ii) if $x \leq y$, then $\bar{\mu}(x) \leq \bar{\mu}(z \rightarrow y)$ and $\bar{\mu}(x) \leq \bar{\mu}(z \rightsquigarrow y)$,
- (iii) $\bar{\mu}(y) \leq \bar{\mu}(x \rightarrow y)$ and $\bar{\mu}(y) \leq \bar{\mu}(x \rightsquigarrow y)$.

Proof (i) Assume that $x \leq y$. Then $x \rightarrow y = 1$. Applying (FF2) and (FF1), we have

$$\bar{\mu}(y) \geq \bar{\mu}(x) \wedge \bar{\mu}(x \rightarrow y) = \bar{\mu}(x) \wedge \bar{\mu}(1) = \bar{\mu}(x).$$

- (ii) Let $x \leq y$. From (pBE₅) and (pBE₂) we get $x \rightsquigarrow (z \rightarrow y) = z \rightarrow (x \rightsquigarrow y) = z \rightarrow 1 = 1$, and so $x \leq z \rightarrow y$. Using (i), we obtain $\bar{\mu}(x) \leq \bar{\mu}(z \rightarrow y)$. The second inequality is obtained by a similar argument.
- (iii) By Proposition 2.7(i), $y \leq x \rightarrow y$ and $y \leq x \rightsquigarrow y$. Applying (i), we have (iii). □

Proposition 3.4 A fuzzy set $\bar{\mu}$ in X is a fuzzy filter of \mathfrak{X} if and only if $\bar{\mu}$ verifies (FF1) and for all $x, y \in X$,

$$(FF3) \quad \bar{\mu}(y) \geq \bar{\mu}(x) \wedge \bar{\mu}(x \rightsquigarrow y).$$

Proof It suffices to prove that if (FF2) is satisfied, then (FF3) is also satisfied. The proof of the converse of this implication is similar. From Proposition 2.7(ii) we see that $x \leq (x \rightsquigarrow y) \rightarrow y$. By Proposition 3.3(i), $\bar{\mu}(x) \leq \bar{\mu}((x \rightsquigarrow y) \rightarrow y)$. Hence

$$\bar{\mu}(x) \wedge \bar{\mu}(x \rightsquigarrow y) \leq \bar{\mu}((x \rightsquigarrow y) \rightarrow y) \wedge \bar{\mu}(x \rightsquigarrow y) \leq \bar{\mu}(y).$$

□

Proposition 3.5 A fuzzy set $\bar{\mu}$ in X is a fuzzy filter of \mathfrak{X} if and only if $\bar{\mu}$ verifies (FF1) and for all $x, y, z \in X$,

$$(FF4) \quad \text{if } x \leq y \rightarrow z, \text{ then } \bar{\mu}(z) \geq \bar{\mu}(x) \wedge \bar{\mu}(y).$$

Proof Assume that $\bar{\mu}$ is a fuzzy filter and $x \leq y \rightarrow z$. Using (FF2) and Proposition 3.3(i), we have:

$$\bar{\mu}(z) \geq \bar{\mu}(y) \wedge \bar{\mu}(y \rightarrow z) \geq \bar{\mu}(y) \wedge \bar{\mu}(x).$$

Conversely, let $\bar{\mu}$ satisfy (FF4). Since $y \rightarrow z \leq y \rightarrow z$, we obtain:

$$\bar{\mu}(z) \geq \bar{\mu}(y \rightarrow z) \wedge \bar{\mu}(y).$$

Thus, $\bar{\mu}$ satisfies (FF2), and hence $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} . □

Proposition 3.6 A fuzzy set $\bar{\mu}$ in X is a fuzzy filter of \mathfrak{X} if and only if $\bar{\mu}$ verifies (FF1) and for all $x, y, z \in X$,

$$(FF5) \quad \text{if } x \leq y \rightsquigarrow z, \text{ then } \bar{\mu}(z) \geq \bar{\mu}(x) \wedge \bar{\mu}(y),$$

Proof Similar to the proof of Proposition 3.5. □

Theorem 3.7 A fuzzy set $\bar{\mu}$ in X is a fuzzy filter of \mathfrak{X} if and only if its nonempty level subset $U(\bar{\mu}, \alpha) = \{x \in X : \bar{\mu}(x) \geq \alpha\}$ is a filter of \mathfrak{X} for all $\alpha \in [0, 1]$.

Proof Let $\bar{\mu} \in \text{FF}(\mathfrak{X})$ and let $\alpha \in [0, 1]$. Assume $U(\bar{\mu}, \alpha) \neq \emptyset$. Then there exists $x_0 \in X$ such that $\bar{\mu}(x_0) \geq \alpha$. Since $\bar{\mu}(1) \geq \bar{\mu}(x)$, we have $1 \in U(\bar{\mu}, \alpha)$. Let $x, x \rightarrow y \in U(\bar{\mu}, \alpha)$. Hence $\bar{\mu}(x) \geq \alpha$ and $\bar{\mu}(x \rightarrow y) \geq \alpha$. It follows from (FF2) that

$$\bar{\mu}(y) \geq \bar{\mu}(x) \wedge \bar{\mu}(x \rightarrow y) \geq \alpha.$$

Therefore, $y \in U(\bar{\mu}, \alpha)$.

Conversely, suppose that for each $\alpha \in [0, 1]$, $U(\bar{\mu}, \alpha) = \emptyset$ or $U(\bar{\mu}, \alpha)$ is a filter of \mathfrak{X} . If (FF1) does not hold, then there exists $x_0 \in X$ such that $\bar{\mu}(1) < \bar{\mu}(x_0) := \beta$. Then $U(\bar{\mu}, \beta) \neq \emptyset$ and by assumption, $U(\bar{\mu}, \beta)$ is a filter of \mathfrak{X} . Hence $1 \in U(\bar{\mu}, \beta)$ and consequently, $\bar{\mu}(1) \geq \beta$. This is a contradiction, and so (FF1) holds. Now, assume that (FF2) is not satisfied. Then there are $x_0, y_0 \in X$ such that $\bar{\mu}(y_0) < \bar{\mu}(x_0) \wedge \bar{\mu}(x_0 \rightarrow y_0)$. Taking

$$\beta = \frac{1}{2}(\bar{\mu}(y_0) + (\bar{\mu}(x_0) \wedge \bar{\mu}(x_0 \rightarrow y_0))),$$

we get $\bar{\mu}(y_0) < \beta < \bar{\mu}(x_0) \wedge \bar{\mu}(x_0 \rightarrow y_0) \leq \bar{\mu}(x_0 \rightarrow y_0)$ and $\beta < \bar{\mu}(x_0)$. Therefore, $x_0, x_0 \rightarrow y_0 \in U(\bar{\mu}, \beta)$ but $y_0 \notin U(\bar{\mu}, \beta)$. This is impossible, and so $\bar{\mu} \in \text{FF}(\mathfrak{X})$. \square

Corollary 3.8 *If $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} , then the set $X_a := \{x \in X : \bar{\mu}(x) \geq \bar{\mu}(a)\}$ is a filter of \mathfrak{X} for all $a \in X$.*

Corollary 3.9 *If $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} , then the set $X_{\bar{\mu}} := \{x \in X : \bar{\mu}(x) = \bar{\mu}(1)\}$ is a filter of \mathfrak{X} .*

The following example shows that the converse of Corollary 3.9 is not true in general.

Example 3.10 Let \mathfrak{X} be a pseudo-BE algebra. Define a fuzzy set $\bar{\mu}$ in X by:

$$\bar{\mu}(x) = \begin{cases} 0.3 & \text{if } x = 1, \\ 0.5 & \text{otherwise.} \end{cases}$$

Then $X_{\bar{\mu}} = \{1\}$ and it is a filter of \mathfrak{X} but $\bar{\mu}$ is not a fuzzy filter, since $\bar{\mu}$ does not satisfy (FF1).

Let $\bar{\mu}_i \in \text{FF}(\mathfrak{X})$ for $i \in I$. The meet $\bigwedge_{i \in I} \bar{\mu}_i$ of fuzzy filters $\bar{\mu}_i$ is defined as follows:

$$\left(\bigwedge_{i \in I} \bar{\mu}_i\right)(x) = \bigwedge\{\bar{\mu}_i(x) : i \in I\}.$$

Proposition 3.11 *Let $\bar{\mu}_i \in \text{FF}(\mathfrak{X})$ for $i \in I$. Then $\bigwedge_{i \in I} \bar{\mu}_i \in \text{FF}(\mathfrak{X})$.*

Proof Let $\bar{\mu} := \bigwedge_{i \in I} \bar{\mu}_i$. Then, by (FF1),

$$\bar{\mu}(1) = \bigwedge\{\bar{\mu}_i(1) : i \in I\} \geq \bigwedge\{\bar{\mu}_i(x) : i \in I\} = \bar{\mu}(x)$$

for all $x \in X$. Let $x, y \in X$. Since $\bar{\mu}_i \in \text{FF}(\mathfrak{X})$, we have $\bar{\mu}_i(x) \geq \bar{\mu}_i(y \rightarrow x) \wedge \bar{\mu}_i(y)$. Hence, by (FF2),

$$\begin{aligned} \bigwedge\{\bar{\mu}_i(x) : i \in I\} &\geq \bigwedge\{\bar{\mu}_i(y \rightarrow x) \wedge \bar{\mu}_i(y) : i \in I\} \\ &= \bigwedge\{\bar{\mu}_i(y \rightarrow x) : i \in I\} \wedge \bigwedge\{\bar{\mu}_i(y) : i \in I\}. \end{aligned}$$

Consequently, $\bar{\mu}(x) \geq \bar{\mu}(y \rightarrow x) \wedge \bar{\mu}(y)$, and therefore $\bar{\mu} \in \text{FF}(\mathfrak{X})$. \square

Let \bar{v} be a fuzzy set in X . A fuzzy filter $\bar{\mu}$ of \mathfrak{X} is said to be *generated by \bar{v}* if $\bar{v} \leq \bar{\mu}$ and for any fuzzy filter $\bar{\rho}$ of \mathfrak{X} , $\bar{v} \leq \bar{\rho}$ implies $\bar{\mu} \leq \bar{\rho}$. The fuzzy filter generated by \bar{v} will be denoted by $[\bar{v}]$. The fuzzy filter $[\bar{v}]$ we can define equivalently as follows:

$$[\bar{v}] = \bigwedge\{\bar{\rho} : \bar{\rho} \in \text{FF}(\mathfrak{X}) \text{ and } \bar{v} \leq \bar{\rho}\}.$$

Let $\bar{\mu}, \bar{v}$ be two fuzzy filters in \mathfrak{X} . Denote the join of $\bar{\mu}$ and \bar{v} by $\bar{\mu} \vee \bar{v}$, that is, $\bar{\mu} \vee \bar{v} = [\bar{\rho}]$, where $\bar{\rho}$ is the fuzzy set in X defined by $\bar{\rho}(x) = \bar{\mu}(x) \vee \bar{v}(x)$.

Theorem 3.12 *Let \mathfrak{X} be a pseudo-BE algebra. Then $(FF(\mathfrak{X}); \wedge, \vee)$ is a complete lattice.*

Proof The proof is straightforward. □

Definition 3.13 A pseudo-BE algebra \mathfrak{X} is said to satisfy the *ascending chain condition* if for every ascending sequence $F_1 \subseteq F_2 \subseteq \dots \subseteq F_n \subseteq \dots$ of filters of \mathfrak{X} , there exists a natural number k such that $F_n = F_k$ for all $n \geq k$. If \mathfrak{X} satisfies the ascending chain condition, we say \mathfrak{X} is a *Noetherian pseudo-BE algebra*.

Theorem 3.14 *Let \mathfrak{X} be a pseudo-BE algebra. The following statements are equivalent:*

- (i) \mathfrak{X} is Noetherian,
- (ii) For each fuzzy filter $\bar{\mu}$ of \mathfrak{X} , $Im(\bar{\mu})$ is a well-ordered set.
- (iii) For each fuzzy filter $\bar{\mu}$ of \mathfrak{X} , if $Im(\bar{\mu}) \subseteq \{t_1, t_2, \dots\} \cup \{0\}$, where (t_n) is a strictly decreasing sequence in $(0, 1]$, then there exists $k \in \mathbb{N}$ such that $Im(\bar{\mu}) \subseteq \{t_1, t_2, \dots, t_k\} \cup \{0\}$.

Proof (i) \Rightarrow (ii): Assume that \mathfrak{X} is Noetherian and $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} such that $Im(\bar{\mu})$ is not a well-ordered subset of $[0, 1]$. Then, there exists a strictly decreasing sequence $(\mu(x_n))$, where $x_n \in X$. Let $t_n = \mu(x_n)$ and $U_n = U(\bar{\mu}; t_n)$. By Theorem 3.7, U_n is a filter of \mathfrak{X} for every $n \in \mathbb{N}$. So $U_1 \subset U_2 \subset \dots$ is a strictly ascending sequence of filters of \mathfrak{X} . This contradicts the assumption that \mathfrak{X} is Noetherian. Then $Im(\bar{\mu})$ is a well-ordered set for each fuzzy filter $\bar{\mu}$ of \mathfrak{X} .

(ii) \Rightarrow (iii): Assume that (ii) is true. Let $\bar{\mu}$ be a fuzzy filter of \mathfrak{X} such that $Im(\bar{\mu}) \subseteq \{t_1, t_2, \dots\} \cup \{0\}$. Since $Im(\bar{\mu})$ is a well-ordered subset of $[0, 1]$ and (t_n) is a strictly decreasing sequence in $(0, 1]$, there is $k \in \mathbb{N}$ such that $Im(\bar{\mu}) \subseteq \{t_1, t_2, \dots, t_k\} \cup \{0\}$.

(iii) \Rightarrow (i): Suppose that \mathfrak{X} is not Noetherian. Then there exists a strictly ascending sequence $F_1 \subset F_2 \subset \dots \subset F_n \subset \dots$ of filters of \mathfrak{X} . Let $\bar{\mu}$ be a fuzzy set in X such that

$$\bar{\mu}(x) = \begin{cases} \frac{1}{n} & \text{if } x \in F_n - F_{n-1} \text{ for some } n \in \mathbb{N}, \\ 0 & \text{if } x \notin F_n \text{ for each } n \in \mathbb{N}, \end{cases}$$

where $F_0 = \emptyset$. Let $F = \bigcup_{n \in \mathbb{N}} F_n$. It is easy to see that F is a filter of \mathfrak{X} . Obviously, $\bar{\mu}(1) = 1 \geq \bar{\mu}(x)$ for all $x \in X$, that is, (FF1) holds. Now we show that $\bar{\mu}$ satisfies (FF2). Let $x, y \in X$. We consider two cases.

Case 1: $x \notin F$.

Then $y \rightarrow x \notin F$ or $y \notin F$. Therefore, $\bar{\mu}(y \rightarrow x) \wedge \bar{\mu}(y) = 0 = \bar{\mu}(x)$.

Case 2: $x \in F_n - F_{n-1}$ for some $n \in \mathbb{N}$.

Then $y \rightarrow x \notin F_{n-1}$ or $y \notin F_{n-1}$. Hence $\bar{\mu}(y \rightarrow x) \leq \frac{1}{n}$ or $\bar{\mu}(y) \leq \frac{1}{n}$. So $\bar{\mu}(y \rightarrow x) \wedge \bar{\mu}(y) \leq \frac{1}{n} = \bar{\mu}(x)$. Thus (FF2) is also satisfied, and consequently $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} . We have $Im(\bar{\mu}) = \{\frac{1}{n} : n \in \mathbb{N}\} \cup \{0\}$. Obviously, $Im(\bar{\mu}) \not\subseteq \{1, \frac{1}{2}, \dots, \frac{1}{k}\} \cup \{0\}$ for every $k \in \mathbb{N}$, which is a contradiction. Therefore \mathfrak{X} is Noetherian, and the proof is complete. □

Corollary 3.15 *If for every fuzzy filter $\bar{\mu}$ of \mathfrak{X} , $Im(\bar{\mu})$ is a finite set, then \mathfrak{X} is Noetherian.*

4 Fuzzy commutative filters

Ciungu [4] defined commutative deductive systems and showed that a pseudo-BCK algebra \mathfrak{X} is commutative if and only if all the deductive systems of \mathfrak{X} are commutative. In this section, we introduce the notion of a fuzzy commutative filter of a pseudo-BE algebra and study some of its properties.

Definition 4.1 [4] We say that a filter F of a pseudo-BE algebra \mathfrak{X} is *commutative* if for all $x, y \in X$:

- (CF1) $y \rightarrow x \in F \implies [(x \rightarrow y) \rightsquigarrow y] \rightarrow x \in F,$
- (CF2) $y \rightsquigarrow x \in F \implies [(x \rightsquigarrow y) \rightarrow y] \rightsquigarrow x \in F.$

Let $CF(\mathfrak{X})$ denote the set of all commutative filters of \mathfrak{X} .

Example 4.2 Let \mathfrak{X} be the pseudo-BE algebra given in Example 2.8. It is easy to see that $\{a, b, c, 1\} \in CF(\mathfrak{X})$, while the filter $\{1\}$ is not commutative, since $a \rightarrow c = 1$ but $[(c \rightarrow a) \rightsquigarrow a] \rightarrow c = c \notin \{1\}$.

Definition 4.3 A fuzzy filter $\bar{\mu}$ of \mathfrak{X} is called a *fuzzy commutative filter* if for all $x, y \in X$,

- (FCF1) $\bar{\mu}((x \rightarrow y) \rightsquigarrow y) \rightarrow x \geq \bar{\mu}(y \rightarrow x),$
- (FCF2) $\bar{\mu}((x \rightsquigarrow y) \rightarrow y) \rightsquigarrow x \geq \bar{\mu}(y \rightsquigarrow x).$

If $\bar{\mu} \in FF(\mathfrak{X})$ satisfies (FCF1) and (FCF2), then we also say that $\bar{\mu}$ is *commutative*. Let $FCF(\mathfrak{X})$ denote the set of all fuzzy commutative filters of a pseudo-BE algebra \mathfrak{X} .

Proposition 4.4 A fuzzy set $\bar{\mu}$ in X is a fuzzy commutative filter of \mathfrak{X} if and only if it satisfies the following conditions:

- (i) $\bar{\mu}(1) \geq \bar{\mu}(x),$
- (ii) $\bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x) \geq \bar{\mu}(z \rightarrow (y \rightarrow x)) \wedge \bar{\mu}(z),$
- (iii) $\bar{\mu}(((x \rightsquigarrow y) \rightarrow y) \rightsquigarrow x) \geq \bar{\mu}(z \rightsquigarrow (y \rightsquigarrow x)) \wedge \bar{\mu}(z).$

Proof Assume that $\bar{\mu} \in FCF(\mathfrak{X})$. By (FF1), condition (i) holds. Since $\bar{\mu}$ is commutative, using (FCF1) and (FF2), we have

$$\begin{aligned} \bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x) &\geq \bar{\mu}(y \rightarrow x) \\ &\geq \bar{\mu}(z \rightarrow (y \rightarrow x)) \wedge \bar{\mu}(z). \end{aligned}$$

Similarly, $\bar{\mu}(((x \rightsquigarrow y) \rightarrow y) \rightsquigarrow x) \geq \bar{\mu}(z \rightsquigarrow (y \rightsquigarrow x)) \wedge \bar{\mu}(z)$, and so (ii) and (iii) hold.

Conversely, let $x, z \in X$ and put $y := 1$ in conditions (ii) and (iii). Applying (pBE₂) and (pBE₃), we obtain

$$\bar{\mu}(x) = \bar{\mu}(((x \rightarrow 1) \rightsquigarrow 1) \rightarrow x) \geq \bar{\mu}(z \rightarrow (1 \rightarrow x)) \wedge \bar{\mu}(z) = \bar{\mu}(z \rightarrow x) \wedge \bar{\mu}(z).$$

Hence $\bar{\mu}$ satisfies (FF2). From this and (i) we see that $\bar{\mu} \in FF(\mathfrak{X})$.

To prove that $\bar{\mu}$ is commutative, set $z := 1$ in conditions (ii) and (iii). By (pBE₂) and (i), we get

$$\begin{aligned} \bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x) &\geq \bar{\mu}(1 \rightarrow (y \rightarrow x)) \wedge \bar{\mu}(1) \\ &= \bar{\mu}(y \rightarrow x) \wedge \bar{\mu}(1) \\ &= \bar{\mu}(y \rightarrow x) \end{aligned}$$

and

$$\begin{aligned} \bar{\mu}(((x \rightsquigarrow y) \rightarrow y) \rightsquigarrow x) &\geq \bar{\mu}(1 \rightsquigarrow (y \rightsquigarrow x)) \wedge \bar{\mu}(1) \\ &= \bar{\mu}(y \rightsquigarrow x) \wedge \bar{\mu}(1) \\ &= \bar{\mu}(y \rightsquigarrow x). \end{aligned}$$

Therefore, $\bar{\mu} \in FCF(\mathfrak{X})$. □

Theorem 4.5 *A fuzzy set $\bar{\mu}$ in X is a fuzzy commutative filter of \mathfrak{X} if and only if its nonempty level subset $U(\bar{\mu}, \alpha)$ is a commutative filter of \mathfrak{X} for all $\alpha \in [0, 1]$.*

Proof Let $\bar{\mu} \in \text{FCF}(\mathfrak{X})$ and $\alpha \in [0, 1]$. Assume that $U(\bar{\mu}, \alpha) \neq \emptyset$. From Theorem 3.7 we deduce that $U(\bar{\mu}, \alpha)$ is a filter of \mathfrak{X} . Let $y \rightarrow x \in U(\bar{\mu}, \alpha)$. Hence $\bar{\mu}(y \rightarrow x) \geq \alpha$. Since $\bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x) \geq \bar{\mu}(y \rightarrow x) \geq \alpha$, it follows that $\bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x) \geq \alpha$, and so $((x \rightarrow y) \rightsquigarrow y) \rightarrow x \in U(\bar{\mu}, \alpha)$. Similarly, $((x \rightsquigarrow y) \rightarrow y) \rightsquigarrow x \in U(\bar{\mu}, \alpha)$. Therefore, $U(\bar{\mu}, \alpha) \in \text{CF}(\mathfrak{X})$.

Conversely, suppose that for each $\alpha \in [0, 1]$, $U(\bar{\mu}, \alpha) = \emptyset$ or $U(\bar{\mu}, \alpha) \in \text{CF}(\mathfrak{X})$. By Theorem 3.7, $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} . Now observe that $\bar{\mu}$ satisfies (FCF1). On the contrary, assume that there are $x_0, y_0 \in X$ such that $\bar{\mu}(y_0 \rightarrow x_0) > \bar{\mu}(((x_0 \rightarrow y_0) \rightsquigarrow y_0) \rightarrow x_0)$. Set $\bar{\mu}(y_0 \rightarrow x_0) := s$ for some $s \in [0, 1]$. Hence $y_0 \rightarrow x_0 \in U(\bar{\mu}, s)$. Since $U(\bar{\mu}, s)$ is a commutative filter, we get $((x_0 \rightarrow y_0) \rightsquigarrow y_0) \rightarrow x_0 \in U(\bar{\mu}, s)$. Thus $\bar{\mu}(((x_0 \rightarrow y_0) \rightsquigarrow y_0) \rightarrow x_0) \geq \bar{\mu}(y_0 \rightarrow x_0)$. This is impossible, and so $\bar{\mu}$ satisfies (FCF1). By a similar argument, $\bar{\mu}$ also satisfies (FCF2). Consequently, $\bar{\mu} \in \text{FCF}(\mathfrak{X})$. □

Corollary 4.6 *A nonempty subset $F \subseteq X$ is a commutative filter of \mathfrak{X} if and only if χ_F is a fuzzy commutative filter of \mathfrak{X} .*

Proof The proof is straightforward. □

Example 4.7 Let \mathfrak{X} be the pseudo-BE algebra from Example 2.8. Since $F := \{a, b, c, 1\} \in \text{CF}(\mathfrak{X})$, by Corollary 4.6, χ_F is a fuzzy commutative filter of \mathfrak{X} .

Proposition 4.8 (Extension property) *Let \mathfrak{X} be a pseudo-BE(A) algebra and let $\bar{\mu} \in \text{FCF}(\mathfrak{X})$. If $\bar{\nu}$ is a fuzzy filter of \mathfrak{X} such that $\bar{\mu} \leq \bar{\nu}$ and $\bar{\mu}(1) = \bar{\nu}(1)$, then $\bar{\nu} \in \text{FCF}(\mathfrak{X})$.*

Proof Assume that $x, y \in X$ and set $u := y \rightarrow x$. By Proposition 2.7 (ii), $y \rightarrow (u \rightsquigarrow x) = 1$. Since $\bar{\mu}$ is a commutative fuzzy filter and $\bar{\mu} \leq \bar{\nu}$, we have:

$$\begin{aligned} \bar{\nu}(1) = \bar{\mu}(1) = \bar{\mu}(y \rightarrow (u \rightsquigarrow x)) &\leq \bar{\mu}(((u \rightsquigarrow x) \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x)) \\ &\leq \bar{\nu}(((u \rightsquigarrow x) \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x)). \end{aligned}$$

Therefore

$$\bar{\nu}(((u \rightsquigarrow x) \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x)) = \bar{\nu}(1). \tag{4.1}$$

By Proposition 2.7(i), $x \leq u \rightsquigarrow x$. Applying condition (A), we conclude that $(u \rightsquigarrow x) \rightarrow y \leq x \rightarrow y$, hence that $(x \rightarrow y) \rightsquigarrow y \leq ((u \rightsquigarrow x) \rightarrow y) \rightsquigarrow y$, finally that $(((u \rightsquigarrow x) \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x) \leq ((x \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x)$. From (4.1) and Proposition 3.3 (i) we deduce that

$$\bar{\nu}(1) \leq \bar{\nu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x)),$$

and so $\bar{\nu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow (u \rightsquigarrow x)) = \bar{\nu}(1)$. Therefore, using (pBE₅), we see that

$$\bar{\nu}(u \rightsquigarrow (((x \rightarrow y) \rightsquigarrow y) \rightarrow x))) = \bar{\nu}(1). \tag{4.2}$$

By (FF3), (4.2) and (FF1),

$$\begin{aligned} \bar{\nu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x) &\geq \bar{\nu}(u) \wedge \bar{\nu}(u \rightsquigarrow (((x \rightarrow y) \rightsquigarrow y) \rightarrow x))) \\ &= \bar{\nu}(u) \wedge \bar{\nu}(1) \\ &= \bar{\nu}(u) \\ &= \bar{\nu}(y \rightarrow x). \end{aligned}$$

Thus $\bar{\nu}$ satisfies (FCF1). Similarly, $\bar{\nu}$ also satisfies (FCF2). Consequently, $\bar{\nu} \in \text{FCF}(\mathfrak{X})$. □

Theorem 4.9 *If \mathfrak{X} is a commutative pseudo-BE algebra, then $FF(\mathfrak{X}) = FCF(\mathfrak{X})$.*

Proof Since every fuzzy commutative filter is a fuzzy filter, it is sufficient to prove that $FF(\mathfrak{X}) \subseteq FCF(\mathfrak{X})$. Assume that $\bar{\mu} \in FF(\mathfrak{X})$. By Proposition 2.7(ii) and commutativity, we have:

$$y \rightarrow x \leq ((y \rightarrow x) \rightsquigarrow x) \rightarrow x = ((x \rightarrow y) \rightsquigarrow y) \rightarrow x.$$

Hence $\bar{\mu}(y \rightarrow x) \leq \bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x)$. Similarly, we get $\bar{\mu}(y \rightsquigarrow x) \leq \bar{\mu}(((x \rightsquigarrow y) \rightsquigarrow y) \rightsquigarrow x)$. Thus $\bar{\mu} \in FCF(\mathfrak{X})$, therefore $FF(\mathfrak{X}) \subseteq FCF(\mathfrak{X})$, and finally $FF(\mathfrak{X}) = FCF(\mathfrak{X})$. □

The following two theorems give the homomorphic properties of fuzzy (commutative) filters.

Theorem 4.10 *Let \mathfrak{X} and \mathfrak{Y} be pseudo-BF algebras and let $f : X \rightarrow Y$ be a homomorphism. If $\bar{\nu}$ is a fuzzy (commutative) filter of \mathfrak{Y} , then $f^{\leftarrow}(\bar{\nu})$ is a fuzzy (commutative) filter of \mathfrak{X} .*

Proof Let $x \in X$. Since $f(x) \in Y$ and $\bar{\nu} \in FF(\mathfrak{Y})$, we have $\bar{\nu}(1) \geq \bar{\nu}(f(x)) = (f^{\leftarrow}(\bar{\nu}))(x)$, but $\bar{\nu}(1) = \bar{\nu}(f(1)) = (f^{\leftarrow}(\bar{\nu}))(1)$. Thus we get $(f^{\leftarrow}(\bar{\nu}))(1) \geq (f^{\leftarrow}(\bar{\nu}))(x)$ for any $x \in X$, that is, $f^{\leftarrow}(\bar{\nu})$ satisfies (FF1). Let now $x, y \in X$. Since $\bar{\nu}$ is a filter of \mathfrak{Y} , we obtain

$$\bar{\nu}(f(x)) \geq \bar{\nu}(f(y) \rightarrow f(x)) \wedge \bar{\nu}(f(y)) = \bar{\nu}(f(y \rightarrow x)) \wedge \bar{\nu}(f(y))$$

and hence, $f^{\leftarrow}(\bar{\nu})(x) \geq f^{\leftarrow}(\bar{\nu})(y \rightarrow x) \wedge f^{\leftarrow}(\bar{\nu})(y)$. Consequently, $f^{\leftarrow}(\bar{\nu}) \in FF(\mathfrak{X})$. We now suppose that $\bar{\nu}$ satisfies (FCF1) and let $x, y \in X$. Then

$$\bar{\nu}(f(y) \rightarrow f(x)) \leq \bar{\nu}(((f(x) \rightarrow f(y)) \rightsquigarrow f(y)) \rightarrow f(x)).$$

Therefore,

$$\bar{\nu}(f(y \rightarrow x)) \leq \bar{\nu}(f(((x \rightarrow y) \rightsquigarrow y) \rightarrow x)).$$

Hence, $f^{\leftarrow}(\bar{\nu})(y \rightarrow x) \leq f^{\leftarrow}(\bar{\nu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x))$, so $f^{\leftarrow}(\bar{\nu})$ satisfies (FCF1). Similarly, if $\bar{\nu}$ satisfies (FCF2), then $f^{\leftarrow}(\bar{\nu})$ satisfies (FCF2). Thus $f^{\leftarrow}(\bar{\nu}) \in FCF(\mathfrak{X})$. □

Lemma 4.11 *Let \mathfrak{X} and \mathfrak{Y} be pseudo-BE algebras and let $f : X \rightarrow Y$ be a homomorphism. If $\bar{\mu} \in FF(\mathfrak{X})$ and $\bar{\mu}$ is constant on $\ker f = f^{\leftarrow}(1)$, then $f^{\leftarrow}(f(\bar{\mu})) = \bar{\mu}$.*

Proof Let $x \in X$ and $f(x) = y$. Hence

$$(f^{\leftarrow}(f(\bar{\mu})))(x) = (f(\bar{\mu}))(f(x)) = (f(\bar{\mu}))(y) = \bigvee \{\bar{\mu}(a) : a \in f^{\leftarrow}(y)\}.$$

For all $a \in f^{\leftarrow}(y)$, we have $f(x) = f(a)$. Hence $f(x \rightarrow a) = 1$, i.e., $x \rightarrow a \in \ker f$. Thus $\bar{\mu}(x \rightarrow a) = \bar{\mu}(1)$. Therefore, $\bar{\mu}(a) \geq \bar{\mu}(x \rightarrow a) \wedge \bar{\mu}(x) = \bar{\mu}(1) \wedge \bar{\mu}(x) = \bar{\mu}(x)$. Similarly, $\bar{\mu}(x) \geq \bar{\mu}(a)$. Then $\bar{\mu}(x) = \bar{\mu}(a)$. Consequently,

$$(f^{\leftarrow}(f(\bar{\mu})))(x) = (f(\bar{\mu}))(y) = \bigvee \{\bar{\mu}(a) : a \in f^{\leftarrow}(y)\} = \bar{\mu}(x),$$

that is, $f^{\leftarrow}(f(\bar{\mu})) = \bar{\mu}$. □

Theorem 4.12 *Let \mathfrak{X} and \mathfrak{Y} be pseudo-BE algebras and $f : X \rightarrow Y$ be a surjective homomorphism. Let $\bar{\mu}$ be a fuzzy filter of \mathfrak{X} such that $X_{\bar{\mu}} \supseteq \ker f$. Then $f(\bar{\mu})$ is a fuzzy filter of \mathfrak{Y} . Moreover, if $\bar{\mu}$ is commutative, then $f(\bar{\mu})$ is also commutative.*

Proof Since $\bar{\mu}$ is a fuzzy filter of \mathfrak{X} and $1 \in f^{\leftarrow}(1)$, we have

$$(f(\bar{\mu}))(1) = \bigvee \{\bar{\mu}(a) : a \in f^{\leftarrow}(1)\} = \bar{\mu}(1) \geq \bar{\mu}(x)$$

for any $x \in X$. Hence

$$(f(\bar{\mu}))(1) \geq \bigvee \{\bar{\mu}(x) : x \in f^{\leftarrow}(y)\} = (f(\bar{\mu}))(y)$$

for any $y \in Y$. Thus $f(\bar{\mu})$ satisfies (FF1). Observe that $f(\bar{\mu})$ also satisfies (FF2). On the contrary, suppose that

$$f(\bar{\mu})(x'_0) < f(\bar{\mu})(y'_0 \rightarrow x'_0) \wedge f(\bar{\mu})(y'_0)$$

for some $x'_0, y'_0 \in Y$. Since f is surjective, there are $x_0, y_0 \in A$ such that $f(x_0) = x'_0$ and $f(y_0) = y'_0$. Hence

$$f(\bar{\mu})(f(x_0)) < f(\bar{\mu})(f(y_0 \rightarrow x_0)) \wedge f(\bar{\mu})(f(y_0)).$$

Therefore

$$f^{\leftarrow}(f(\bar{\mu}))(x_0) < f^{\leftarrow}(f(\bar{\mu}))(y_0 \rightarrow x_0) \wedge f^{\leftarrow}(f(\bar{\mu}))(y_0).$$

Since $X_{\bar{\mu}} \supseteq \ker f$, we conclude that $\bar{\mu}$ is constant on $\ker f$. Hence, by Lemma 4.11, we get

$$\bar{\mu}(x_0) < \bar{\mu}(y_0 \rightarrow x_0) \wedge \bar{\mu}(y_0),$$

which is a contradiction with a fact that $\bar{\mu}$ is a filter. Therefore, $f(\bar{\mu})$ satisfies (FF2). Thus, $f(\bar{\mu}) \in \text{FF}(\mathfrak{Q})$.

Assume now that $\bar{\mu}$ is commutative. To prove that $f(\bar{\mu})$ satisfies (FCF1), suppose on the contrary that

$$f(\bar{\mu})(y' \rightarrow x') > f(\bar{\mu})(((x' \rightarrow y') \rightsquigarrow y') \rightarrow x')$$

for some $x', y' \in Y$. Since f is surjective, there are $x, y \in X$ such that $f(x) = x'$ and $f(y) = y'$. We have

$$f(\bar{\mu})(f(y \rightarrow x)) > f(\bar{\mu})(f(((x \rightarrow y) \rightsquigarrow y) \rightarrow x)).$$

Hence

$$f^{\leftarrow}(f(\bar{\mu}))(y \rightarrow x) > f^{\leftarrow}(f(\bar{\mu}))(((x \rightarrow y) \rightsquigarrow y) \rightarrow x).$$

From Lemma 4.11 we conclude that $\bar{\mu}(y \rightarrow x) > \bar{\mu}(((x \rightarrow y) \rightsquigarrow y) \rightarrow x)$, a contradiction. Consequently, $f(\bar{\mu})$ satisfies (FCF1). Similarly, $f(\bar{\mu})$ satisfies (FCF2). Thus $f(\bar{\mu}) \in \text{FCF}(\mathfrak{Q})$. □

5 Conclusion and future research

This paper begins by considering the notion of fuzzy filter in pseudo-BE algebras (these algebras are a non-commutative extension of BE algebras and a generalization of pseudo-BCK algebras). For the general development of pseudo-BE algebras fuzzy filter theory plays an important role (see, for example, Theorems 3.14 and 4.5).

Various characterizations of fuzzy filters were given and conditions for a fuzzy set to be a fuzzy filter were provided. It was proved that the set of all fuzzy filters of a pseudo-BE algebra is a complete lattice. Next, some characterizations of Noetherian pseudo-BE

algebras by fuzzy filters were obtained. Moreover, we have introduced the notion of fuzzy commutative filter of pseudo-BE algebras and derived its basic properties. Finally, we have given the relationships between fuzzy filters and fuzzy commutative filters of a pseudo-BE algebra and also provided the homomorphic properties of fuzzy (commutative) filters.

The next step in studying fuzzy filters in pseudo-BE algebras may be introducing and investigating the notions of fuzzy maximal filter and fuzzy prime filter. We shall also study fuzzy congruence relations on pseudo-BE algebras.

Acknowledgements The authors thank the referees for remarks which were incorporated into this revised version.

References

1. Borumand Saeid, A., Rezaei, A., Borzooei, R.A.: Some types of filters in BE-algebras. *Math. Comput. Sci.* **7**(3), 341–352 (2013)
2. Borzooei, R.A., Borumand Saeid, A., Rezaei, A., Radfar, A., Ameri, R.: On pseudo BE-algebras. *Discuss. Math. Gen. Algebra Appl.* **33**, 95–108 (2013)
3. Ciungu, L.C.: Commutative pseudo BE-algebras. *Iran. J. Fuzzy Syst.* **13**(1), 131–144 (2016)
4. Ciungu, L.C.: Commutative deductive systems of pseudo BCK-algebras. *Soft Comput.* **22**, 1189–1201 (2018)
5. Ciungu, L.C.: Fantastic deductive systems in probability theory on generalizations of fuzzy structures. *Fuzzy Sets Syst.* **363**, 113–137 (2019)
6. Dudek, W.A., Jun, Y.B.: Pseudo-BCI algebras. *East Asian Math. J.* **24**, 187–190 (2008)
7. Dymek, G., Walendziak, A.: Fuzzy filters of BE-algebras. *Math. Slovaca* **63**, 1–12 (2013)
8. Dymek, G., Walendziak, A.: Fuzzy ideals of pseudo-BCK algebras. *Demonstr. Math.* **45**(1), 1–15 (2012)
9. Georgescu, G., Iorgulescu, A.: Pseudo-BCK algebras: an extension of BCK-algebras, *Combinatorics, Computability and logic*, pp. 97–114. Springer Ser. Discrete Math. Theor. Comput. Sci. Springer, London (2001)
10. Hu, Q.P., Li, X.: On BCH-algebras. *Math. Semin. Notes* **11**, 313–320 (1983)
11. Imai, Y., Iséki, K.: On axiom systems of propositional calculi XIV. *Proc. Jpn. Acad.* **42**, 19–22 (1966)
12. Iséki, K.: An algebra related with a propositional calculus. *Proc. Jpn. Acad.* **42**, 26–29 (1966)
13. Kim, H.S., Kim, Y.H.: On BE-algebras. *Sci. Math. Jpn.* **66**, 113–116 (2007)
14. Kühr, J.: Pseudo BCK-semilattices. *Demonstr. Math.* **40**, 495–516 (2007)
15. Lee, K.J.: Fuzzy ideals of pseudo BCI-algebras. *J. Appl. Math. Inform.* **27**, 795–807 (2009)
16. Liu, Y.L., Meng, J.: Fuzzy ideals in BCI algebras. *Fuzzy Sets Syst.* **123**, 227–237 (2001)
17. Rezaei, A., Borumand Saeid, A.: On fuzzy subalgebras of BE-algebras. *Afr. Mat.* **22**(2), 115–127 (2011)
18. Rezaei, A., Borumand Saeid, A.: Some results in BE-algebras. *Analele Universitatii Oradea Fasc. Matematica* **19**, 33–44 (2012)
19. Rezaei, A., Borumand Saeid, A.: Commutative ideals in BE-algebras. *Kyungpook Math. J.* **52**, 483–494 (2012)
20. Sambasiva Rao, M.: On fuzzy filters of BE-algebras. *Ann. Fuzzy Math. Inform.* **7**, 229–238 (2014)
21. Walendziak, A.: Pseudo BCH-algebras. *Discuss. Math. Gen. Algebra Appl.* **35**, 1–15 (2015)
22. Walendziak, A., Wojciechowska-Rysiawa, M.: Fuzzy ideals of pseudo BCH-algebras. *Math. Aeterna* **5**(5), 867–881 (2015)
23. Wang, F.X.: On fuzzy ideals in BCH-algebras. *Fuzzy Inform. Eng. Adv. Soft Comput.* **40**, 188–193 (2007)
24. Xi, O.G.: Fuzzy BCK-algebras. *Math. Jpn.* **36**, 935–942 (1991)
25. Zadeh, L.A.: Fuzzy sets. *Inf. Control* **8**, 338–353 (1965)

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.